STEERING & SUSPENSION PARTS

Ajuo sasodind uolewuIoUl 10§ PAsN B1E JUSWIND0P SIY3 Ul papn|oul elep pue siaquwinu jied ‘suondussep jonpoid ||y
IpI|dBWE 16]1q 929PES 19|119A dA IiB|BIEWINU BB ‘liB|ewue)yISe unin wny IYEpUuBWNYOp Ng X

SINILI M3N



{ TENOROT .

TEKNOROT REF: A-1018 ADAPTABLEFOR ALJD/
YEAR ONLY
2014-2018
Weight: 16822  Length: 3745
MODEL NO BO0OY CODE YEAR DIRECTIONS OEMNO
. Rear Right
Al 8x1 2010-2018 Forward 6R0605224
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

A SB853 Lateral ATn Rear 1K05055410
Bushing

TEKNOROT REF: A-1019 ADAPTABLEFOR ALJD/
Lateral Arm S1/quattro
YEAR ONLY
2014-2018
Weight: 1822  Length: 3745
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Rear Left
Al 8x1 2010-2018 o rward B6RO505223
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
O SB.853 Lateral Amm Rear 105055410
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(; TXNOROT

STEERING 6 SUSPENSION PARTS

I 2020 September
520dx,5300x,5400x,530ix
,540ix

TEKNOROT REF: B-1078
Suspens/an Control Arm

Weight: 1619  Length: 299

Front Right

5-SERIES 630 G31 2017- | ower Pearward 31106861182
[ Control Arm Front Lower N "
@ S5B1289 Bushing Inner 31106861178% 31106861177
Control Arm Front Lower N "
ﬁ 5B 12390 Bushing Outer 31106861178% 31106861177

TEKNOROT REF: B-1079
.S'uspens/an Control Arm

520dx,530dx,540adx,530ix
,5640ix

Weight: 1619  Length: 299

Front Left Lower
5-SERIES 530, G31 2017- s 31106861161
- SB1289 ControlArm | Front Lower 31106861178% 31106861177
=& Bushing Inner
SB1290 ControlArm | Front Lower 31106861176 31106861177+
Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 2



e —
{» T&XNOROT

TEKNOROT REF: B-1098 ADAPTABLEFOR BMW
Suspension Control Arm M550ix, M5500x

o L @

Weight: 1661  Length. 305

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
5-SERIES 630,631 o017 Vi ;Orné 55’; J th ;r ’ 31106861174
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB1289 Control Amn Front Lower 31106861178* 31106861177
- 4 Bushing Inner
’ SB 1290 Control Amn Front Lower 31106861178* 31106861177*
Bushing Outer
TEKNOROT REF: B-1098 P
Suspension Control Arm 620dx,6300x,6400x,630ix
,640ix

o L @

Weight: 1661 Length: 305

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: . Front Right
6-SERIES 2017 Lo 31106861174
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB 1289 Lontrol Arm Front Lower 31106861178 31106861177*
- 4 Bushing Inner
’ SB 1290 Lontrol Arm Front Lower 31106861178* 31106861177*
Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(; TXNOROT

STEERING 6 SUSPENSION PARTS

I 2020 September

730alx, 740dx, 750dx, 750ix

TEKNOROT REF: B-1098
Suspens/an Control Arm

Weight: 1661 Length: 305

. . Front Right
7-SERIES G11, G12 2017 | ower Pearward 31106861174
[ Control Arm Front Lower N "
@ S5B1289 Bushing Inner 31106861176* 31106661177
Control Arm Front Lower N "
ﬁ SB 1290 Bushing Outer 31106861176* 31106661177

TEKNOROT REF: B-1099
.S'uspens/an Control Arm

S wenmaw

M550ix,M550dx

Weight: 1661 Length: 305

Front Left Lower

5-SERIES 630,631 2017- s 31106861173
- SB1289 ControlArm | Front Lower 31106861178% 31106861177
=& Bushing Inner
SB1290 ControlArm | Front Lower 31106861178* 31106661177+
Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 4



TEKNOROT REF. B-1099 ADAPTABLEFOR BMW

Suspension Control Arm 6200x.630dx,6400x,630ix
R @ A

,640ix

Weight: 1661  Length. 305

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
6-SERIES 2017- el 31106861173
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB1289 Control Amn Front Lower 31106861178* 31106861177
- 4 Bushing Inner
’ SB 1290 Control Amn Front Lower 31106861178* 31106861177*
Bushing Outer
TEKNOROT REF: B-1099 ADAPTABLEFOR BMW
Suspension Control Arm 730dx, 7400, 750dx, 750ix
- 10
Weight: 1661 Length: 305
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
7-SERIES Gl G12 2017- i 31106861173
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- SB 1289 Lontrol Arm Front Lower 31106861178* 31106861177
- 4 Bushing Inner
’ SB 1290 Lontrol Arm Front Lower 31106861178* 31106861177*
Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF. BU-216
Suspension Stabilizer Bar Link

Weight: 0262  Length: 1561  Bolt Metric: M10X15

MODEL NO BODY CODE

ENCLAVE 2nd Gen

TEKNOROT REF. BU-216
Suspension Stabilizer Bar Link

Weight: 0,262 Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY CODE

ATS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2018-

YEAR

2014-

ADAPTABLEFOR BLIICK

DIRECTIONS

Rear

DIRECTIONS

Rear

OEMNO

23105170

ADAPTABLEFOR CADILLAC

OEMNO

28105170



=
o ENORaT

TEKNOROT REF. BU-216
Suspension Stabilizer Bar Link

Weight: 0262  Length: 1561  Bolt Metric: M10X15
MODEL NO BODY CODE
C7s 3rd Gen

TEKNOROT REF: BU-216
Suspension Stabilizer Bar Link

_

Weight: 0262  Length: 1561  Bolt Metric: M10X1,5
MODEL NO BODY CODE
CAMARO 6th Gen

YEAR

2014-

YEAR

2016-

’0 September

ADAPTABLEFOR CADILLAC

DIRECTIONS

Rear

OEMNO

23105170

ADAPTABLEFOR CHEVROLET

DIRECTIONS

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

28105170



TEKNOROT REF. BU-216
Suspension Stabilizer Bar Link

a.
Weight: 0262  Length: 1561  Bolt Metric: M10X15

MODEL NO BODY CODE

TRAVERSE 2nd Gen

TEKNOROT REF. BU-216
Suspension Stabilizer Bar Link

-

Gyt

Weight: 0262  Length: 151  Bolt Metric: M10X1,5

MODEL NO BODY CODE

ACADIA 2nd Gen

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2018-

YEAR

2017-

omber

ADAPTABLEFOR OHEVROLET

DIRECTIONS

Rear

OEMNO

23105170

ADAPTABLEFOR GMC

DIRECTIONS

Rear

OEMNO

28105170



TEKNOROT REF: CH-1016 ADAPTABLEFOR CHEVROLET
Suspension Stabilizer Bar Link SUPPORT LINK

®

Weight: 0305 Length: 95

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
SILVERADO 1500 1stGen, GMTB00  1999-2006 Front 15736950
TEKNOROT REF: CH-1016 ADARTABLERCRNCIHIEVROLE T
Suspension Stabilizer Bar Link SUPPORT LINK

®

Weight: 0,305  Length: 95

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SILVERADO 2500 IstGen, GMTE800  19899-2006 Front 15736950

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= - .
‘\) STEERING B SUSPENSION PARTS tember

TEKNOROT REF: CH-1042 ADAPTABLEFOR OHEVROLET
Steering Tie Rod End Moog type

Weight: 0838  Length: 220  Bolt Metric: 168G 5/8" UNFRH  Housing Metric: 11/16" 150

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
BLAZER 1973-1974 Front Inner ES408LT, 378344
TEKNOROT REF: CH-1042 ADAPTABLEFOR CHEVROLET
Steering Tie Rod End Moog type

T

—

Weight: 0838  Length: 220  Bolt Metric: 18G5/8" UNFRH  Housing Metric: 11/16" 186 LH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

C10 PICKUP 1973-1986 Front Inner ES409LT, 3768344

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

k STEERING 6 SUSPENSION PARTS ptember

TEKNOROT REF. CH-1042 ADAPTABLEFOR CHEVROLET
Steering Tie Rod End Moog type

u
| A
sl LR ‘
[ WEEREE ARRE W ¢

Weight: 0838  Length: 220  Bolt Metric: 168G 5/8" UNFRH  Housing Metric: 11/16" 166G LH

T e

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
C20 PICKUP 1971-1986 Front Inner ES409LT, 378344
TEKNOROT REF. CH-1042 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End Moog type

T e

-
‘i ~2E ‘.

Weight: 0838  Length: 220  Boit Metric: 18G 5/8" UNFRH  Housing Metric: 11/16" 186 LH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

C30 PICKUP 1971-1986 Front Inner ES409LT, 3768344

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

k STEERING 6 SUSPENSION PARTS ptember

TEKNOROT REF. CH-1042 ADAPTABLEFOR CHEVROLET
Steering Tie Rod End Moog type

—

Weight: 0838  Length: 220  Bolt Metric: 168G 5/8" UNFRH  Housing Metric: 11/16" 166 LH

T e

AR

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
G10 1973-1995 Front Inner ES409LT, 378344
TEKNOROT REF. CH-1042 ADAPTABLEFOR GHEVROLET
Steering Tie Rod End Moog type

T e

—

Weight: 0838  Length: 220  Bolt Metric: 18G 5/8" UNFRH  Housing Metric: 11/16" 168G LH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G20 1971-1995 Front Inner ES409LT, 3768344

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

-
k’ STEERING 6§ SUSPENSION PARTS E mber

TEKNOROT REF: CH-1042 ADAPTABLEFOR OHEVROLET
Steering Tie Rod End Moog type

—

Weight: 0838  Length: 220  Bolt Metric: 168G 5/8" UNFRH  Housing Metric: 11/16" 158G LH

T

e -

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
G30 1971-1996 Front Inner ES409LT, 378344
TEKNOROT REF: CH-1043 ADAPTABLEFOR CHEVROLET
Steering Tie Rod FORLS LT LT
YEAR ONLY

2008-2009

¢ —— |

Weight: 0,71 Length: 330  Bolt Metric. M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EQUINOX 2005-2009 Front Inner EVB0443, 15797215

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: CH-1043
Steering Tie Rod

 ——— .

Weight: 071  Length: 330  Bolt Metric: M14X15
MODEL NO BODY CODE
TORRENT

TEKNOROT REF: CH-231
Steering Tie Rod End

T

11" 4

T

Weight: 0595  Length: 117  Bolt Metric. M12X1,75
MODEL NO BODY CODE
EQUINOX 2nd Gen

Power/Hydraulic Steering

ADAPTABLEFOR PONTIAC

YEAR ONLY
2008-2009

Housing Metric: M14X1,5

OEMNO

YEAR DIRECTIONS

EVB04435, 15797215

2006-2009 Front Inner

ADAPTABLEFOR CHEVROLET

Housing Metric. M14X1,5

YEAR DIRECTIONS OEMNO

19210064

2010-2017 Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



~\ TXNOROT

OTE .
\‘ STEERING 6 SUSPENSION PARTS Dtember

TEKNOROT REF. CH-231 ADAPTABLEFOR GMIC
Steering Tie Rod End Power/Hydraulic Steering

il

Weight: 06595  Length: 117  Bolt Metric: M12X1,75  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
TERRAIN 2010- Front 19210064
TEKNOROT REF. DO-386 A eI
Suspension Stabilizer Bar Link RWD, Moog type

o

Weight: 0425  Length: 176  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 1500 Znd Gen 19594-2001 Rear K7370, 52106057AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A\ TXNOROT

GT= - .
‘\) STEERING B SUSPENSION PARTS tember

TEKNOROT REF. DO-386 ADAPTABLEFOR JODGE
Suspension Stabilizer Bar Link RWD, Moog type

o

Weight: 0425  Length: 176  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RAM 2500 2nd Gen 1994-2001 Rear K7370, 52106057AA
TEKNOROT REF: DO-386 ADAPTABLEFOR [JODGE
Suspension Stabilizer Bar Link RWD, Moog type

o

Weight: 0425  Length: 176  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 3500 Znd Gen 19594-2001 Rear K7370, 52106057AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=NOoROT

TEKNOROT REF. FO-494K ADAPTABLEFOR FOR[
Suspension Ball Joint with accessories

oy
SO
Y

Weight: 0679  Length: 71

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
FOCUS Il europe made 2011-2018 Front Right 1702983* BVB13A424AAB*
TEKNOROT REF: FO-495K AOAPTABLEFOR R[]

e
ed

Weight: 0679 Length. 71

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FOCUS Il europe made 2011-2018 Front Left 17029707 8VB13A423AAB*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: H-1008 ADAPTABLEFOR HONDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 3373  Length: 360,56  Bolt Metric. M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
JAZZ % 2015- Front Right 5135075401
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
" .
i H-1004 Susp EJ’; % ‘;” Ball | rront Lower 51350T5AJ01* 51360T5AJ01*
sB1277 Control Arm | o outer 51350T5AJ01* 51360T5AI01*
Bushing
SB 1264 Control Amn Front Inner 51350T5AJ01* 51360T5AJ01*
Bushing
TEKNOROT REF: H-1009 ADAPTABLEFOR HONIA
Suspension Control Arm and
Ball Joint Assembly

Weight: 3373  Length: 3605  Bolt Metric: M12X1,25

MODEL NO BODY CODE VEAR DIRECTIONS OEM NO
JAZZ IV 2015- Front Left 51360T54J01
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
rf'« .
¥ H-1004 S USDQJZ%’?” Ball | eront Lower 51350T5AJ01* 51360T5AJ01*
SB1277 Lontrol Arm Front Outer 51350T5AJ01* 51360T5AJ01*
Bushing
SB 1264 Lontrol Arm Front Inner 51350T5AJ01* 51360T5AJ01*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: H-1046 ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link CROSSTOUR
< YEAR ONLY
a ' 2011-2012
‘-
Weight: 0234  Length: 100  Bolt Metric: M10X1,25
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
ACCORD Vil 2008-2012 Rear Right 52320TP6AC]
TEKNOROT REF. H-1047 ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link CROSSTOLR
i YEAR ONLY
. 2011-2012
»
Weight: 0234  Length: 100  Bolt Metric: M10X1,25
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
ACCORD Vil 2008-2012 Rear Left 52325TP6AC]

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS Eptember

TEKNOROT REF: I-1003 ADAPTABLEFOR [SUZU
Steering Tie Rod

Weight: 07565  Length: 320  Boit Metric: M14X1,5  Housing Metric. M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
O-MAX 2012- Front Inner 8981649670
TEKNOROT REF: IN-103 ADAPTABLE FOR INFINITY
Steering Tie Rod VEAR ONLY

2007-2008

Weight: 0448  Length: 1563  Bolt Metric: M14X1,5  Housing Metric. M18X1 RH 6H

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
EVB00608, 48521JK61A, DB521JKBIA,
G35 2003-2008 Front DBE21IMBIA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: IN-103 ADAPTABLEFOR [NIFINITY
Steering Tie Rod

Weight: 0448  Length: 153  Bolt Metric: M14X1,5  Housing Metric. M18X1 RH 6H

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
EVBO0608, 48521JK61A, D8521JKB1A,
G37 2009- Front DBES1IHBIA

TEKNOROT REF: KI-596 ADAPTABLEFOR HYUNDA/
Suspension Stabilizer Bar Link

e

%
<

Weight: 0537  Length: 349  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SONATA /th Gen, LF 2015- Front Right 5484001000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF.: KI-5696
Suspension Stabilizer Bar Link

e

-

Weight: 0537  Length: 349  Bolt Metric: M12X1,25

MODEL NO BODY CODE

OPTIMA 4th Gen, JF

TEKNOROT REF. KI-5697
Suspension Stabilizer Bar Link

/

Weight: 0,537  Length: 349  Bolt Metric: M12X125

MODEL NO BODY CODE

SONATA 7th Gen, LF

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2016-

YEAR

2015-

DIRECTIONS

Front Right

ADAPTABLEFOR KA

=

=+ -

gﬂﬂh

OEMNO

54684001000

ADAPTABLEFOR HYUNDA/

DIRECTIONS

Front Left

OEMNO

5843001000



TEKNOROT REF.: KI-697
Suspension Stabilizer Bar Link

/

.!'

Weight: 0537  Length: 349  Bolt Metric: M12X1,25

MODEL NO BODY CODE

OPTIMA 4th Gen, JF

TEKNOROT REF. LA-254
Suspension Ball Joint

$

DD
Weight: 0,896 Length: 95,7
MODEL NO BODY CODE
DISCOVERY SPORT L530

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2016-

YEAR

2015-

DIRECTIONS

Front Left

omber

ADAPTABLEFOR KA

=+ -

gﬂ&m

OEMNO

5843001000

ADAPTABLEFOR | AN ROVER

DIRECTIONS

Front

OEMNO

LRI117140% LR110277% LR1171417,
LR110276™



-
{5 TXNOROT

TEKNOROT REF. LA-254
Suspension Ball Joint

A  coe8
132

Weight: 0896  Length: 95,7

MODEL NO BODY CODE

RANGE ROVER EVOQUE L538

TEKNOROT REF: M-1043
Steering Tie Rod

uqﬁ

Weight: 0465  Length: 2075

MODEL NO BODY CODE

A-CLASS

Bolt Metric: M14X1,5

YEAR

2011-

Housing Metric: M14X1,5

YEAR

2018-

DIRECTIONS

Front

DIRECTIONS

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ptember

ADAPTABLEFOR | AN ROVER

OEMNO

LR117140* LR110277% LR117141",
LRI110276*

ADAPTABLEFOR MIERCEDES

OEMNO

1773360000



A\ TXNOROT

GT= e
A\) STEERING B SUSPENSION PARTS tember

TEKNOROT REF: M-1043 ADAPTABLEFOR MERCEDES
Steering Tie Rod

u—%@&‘-

Weight: 0465  Length: 2075  Bolt Metric: M14X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
B-CLASS 2018- Front 1773380000
TEKNOROT REF: MA-875 ADAPTABLEFOR MIAZ A
Suspension Ball Joint
| @ -

Weight: 0267  Length: 745  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MX-5 I(NBJ 1998-2005 Front Upper NO6834200%* NO66854250*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




! a

TEKNOROT REF. MA-876 ADAPTABLEFOR FIAT
Suspension Stabilizer Bar Link

4
F
£

Weight: 0212  Length: 60  Bolt Metric: M10X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
124 348 2016- Rear Right N24328170
TEKNOROT REF MA-876 s R MAZDA

Suspension Stabilizer Bar Link

Weight: 0212  Length: 60  Bolt Metric. M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MX-5 v 2015- Rear Right N24328170

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF: MA-877 ADAPTABLEFOR FIAT
Suspension Stabilizer Bar Link

4
F
£

Weight: 0212  Length: 60  Bolt Metric: M10X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
124 348 2016- Rear Left N24328180
TEKNOROT REF MA-877 s R MAZDA

Suspension Stabilizer Bar Link

Weight: 0212  Length: 60  Bolt Metric. M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MX-5 v 2015- Rear Left N24328190

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: MA-8781 ADAPTABLEFOR MIAZA
Lateral Arm

e

Weight: 142  Length. 327

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3 BM 2014-2019 Rear Lower B45A28500
TEKNOROT REF: MA-898 ADAPTABLEFOR MIAZ A
Suspension Control Arm and
Ball Joint Assembly

Weight: 201  Length: 273  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
3 . Front Right
MX-5 I (NB) 1998-2005 Lol ND6834200
COMPONENTS NUMBER NAME ~ DIRECTIONS OEMNO
e .
® ma-grs | SUFESINEEL L ot ypper NOB834200", NOB834250*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: MA-899 ADAPTABLEFOR MIAZDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 201 Length: 273  Bolt Metric. M12X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
MX-5 Il (NB) 1998-2005  Front Left Upper NOB834250
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e ,
® MA-875 S ”SDEJZ%‘;” Ball | tront Upper NOB834200* NOB834250*
TEKNOROT REF: MI-726 ADAPTABLEFOR [J0GE
Suspension Stabilizer Bar Link Moog type
- ﬂ ﬂ S8
- = g \{“3 & > |
Weight: 0645  Length: 177
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
DAKOTA 2005-2010 Rear K750379, 68027561A4

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

P
\;srwmusﬁ SUSPENSION PARTS !

TEKNOROT REF: MI-726 ADAPTABLEFOR MITSUBISH/

Suspension Stabilizer Bar Link Moog type %}' N

=3 AL S
- OO

Weight: 0645  Length: 177

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RAIDER 2006-2009 Rear K750379, 68027561AA
TEKNOROT REF: MI-732 ADAPTABLEFOR MIITSUBISH/
Steering Tie Rod End
[}

Weight: 0447  Length: 794  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ECLIPSE CROSS 2018- Front 4422A139

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

k STEERING 6 SUSPENSION PARTS ptember

TEKNOROT REF. MI-743 ADAPTABLEFOR MIITSUBISH/
Steering Tie Rod Moog type

B e O

Weight: 0668  Length: 340  Bolt Metric: M14X15  Housing Metric. M16X1

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ENDEAVOR 1st Gen 2004-2011 Front Inner EVB00546, MN101662
TEKNOROT REF: MI-764 ADAPTABLEFOR FIAT
Suspension Ball Joint

@

Weight: 0468  Length: 81  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FULLBACK 502 503 2016- Front Upper — 4010A148% 4010A114%, 6000605878*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




[ =
{» T&XNOROT

TEKNOROT REF: MI-764
Suspension Ball Joint

&

Weight: 0468  Length: 81  Bolt Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS

L200 KI/KK/KL 2015- Front Upper

TEKNOROT REF: N-1028

Suspension Control Arm and
Ball Joint Assembly

°© g
2

Weight: 4256  Length: 365,5

MODEL NO BODY CODE YEAR  DIRECTIONS
MAXIMA A35 2009-2014 T PO
COMPONENTS NUMBER NAME DIRECTIONS
© e cumy we

s SB1242 Ugggﬁl{s f\gﬂ Fror/7nt fégrwer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIITSLIBISH/

OEMNO

4010A148%, 4010A114* 6000605878*

ADAPTABLEFOR NISSAN

OEMNO

5450039N00B, 545003NO0A

OEMNO

545003TAOB*, 545013TAOB*

545003TAOB*, 545013TAOB*



e —
{» T&XNOROT

TEKNOROT REF: N-1029

Suspension Control Arm and
Ball Joint Assembly

°

Weight: 4256  Length: 3655

MODEL NO BOOY CODE YEAR DIRECTIONS
MAXIMA A35 2009-2014  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
o Control Arm Front Lower
Q 5912 Bushing Outer
? 9B 1947 Conitrol Arm Front Lower
: Bushisng Inner
TEKNOROT REF: N-1058
Suspension Control Arm and
Ball Joint Assembly
Weight: 489  Length: 436
MODEL NO BOOY CODE YEAR DIRECTIONS
. Front Right
QUEST 4th Gen, RE52 2010-2017 L ower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

545015N00B, 545019N00A

OEMNO

545003TAOB", 545013TAUB*

545003TADB", 545013TAUB*

ADAPTABLEFOR NISSAN

OEMNO

545001JA0A



/A TXNOROT T

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: N-1059 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 489  Length. 438

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
OUEST 4th Gen, RE52 2010-2017  Front Left Lower 545011JA0A
ADAPTABLE FOR NIISSAN

TEKNOROT REF: N-1061
Steering Tie Rod End

q
Weight: 0851  Length: 183  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FRONTIER (D40) 2005-2014 Front Right 48640EADZ5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: N-1061 ADAPTABLE FOR NJSSAN
Steering Tie Rod End USA Market

Weight: 0851  Length: 183  Bolt Metric: M14X1,5  Housing Metric: M16X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PATHFINDER R51 2005-2014 Front Right 48640EA025
TEKNOROT REF: N-1061 ADAPTABLEFOR NISSAN
Steering Tie Rod End

Weight: 0,851 Length: 183  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XTERRA Znd Gen, N5O 2005-2015 Front Right 48640EADZ5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

P
\;srwmusﬁ SUSPENSION PARTS !

TEKNOROT REF: N-1062 ADAPTABLEFOR NISSAN
Steering Tie Rod End

&

B

Weight: 0851  Length: 183  Bolt Metric: M14X1,5  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

FRONTIER (D40] 2005-2014 Front Left 48520EA025
TEKNOROT REF: N-1062 ADAPTABLEFOR NISSAN
Steering Tie Rod End USA Market B

&

B

Weight: 0851 Length: 183  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PATHFINDER R&1 2005-2014 Front Left 48520EAD0Z5

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{ TENOROT .

TEKNOROT REF: N-1062 ADAPTABLEFOR NISSAN
Steering Tie Rod End

L

Weight: 0851  Length: 183  Bolt Metric: M14X1,5  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
XTERRA 2nd Gen, N5O 2005-2015 Front Left 48520EA025
TEKNOROT REF: O0-1018 ADAPTABLEFOR (JPEL
Lateral Arm CHASSIS NO FROM
E1000001

Weight: 2465  Length: 3859

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

INSIGNIA 1stGen 2008-2017  Rear Right Upper 22940357

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Q 0-1004 Suspejg%z?n Ball Pear 228940357% i?zglli%’: 22940356*,

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. 0-1019 ADAPTABLEFOR (JPEL
Lateral Arm CHASSIS NO FROM

E1000001

Weight: 2465  Length: 3659

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
INSIGNIA 1st Gen o008-2017 "% UR/Q”[ teft 22940356
pper
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- i Suspension Ball 22940357* 423150, 22940356,

o-1004 Joint Rear 423149

TEKNOROT REF. PO-508 ADAPTABLEFOR PORSCHE

Suspension Control Arm and

Ball Joint Assembly

Weight: 4037  Length: 445  Bolt Metric: M14X1,5
MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
PANAMERA 2009-2016 " o Z‘L/th f 97094105404

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. PO-509 ADAPTABLEFOR PORSCHE

Suspension Control Arm and
Ball Joint Assembly

e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

Weight: 4037  Length. 445  Bolt Metric. M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
PANAMERA 2009-2016  Front Left Lower 97034106504
TEKNOROT REF. RA-101 ADAPTABLE FOR RAM
Steering Tie Rod End 4WD
; YEAR ONLY
5 2011-2013

o

Weight: 2358  Length: 310  Bolt Metric: M14X1,5  Housing Metric: 13/8-16 UN

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

2500 2011- Front Outer 68038054AF

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: RA-101 ADAPTABLEFOR RAM
Steering Tie Rod End 4AWD
YEAR ONLY
b 2011-2013

omm

Weight: 2358  Length: 310  Bolt Metric: M14X1,5  Housing Metric.: 1 3/8-16 UN

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3500 2011- Front Outer 68038054AF
TEKNOROT REF: RA-107 JoPTABLEFOR DODGE

Suspension Stabilizer Bar Link — y, /Electric Stabilizer Bar

Weight: 0,742  Length: 123 Bolt Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 2500 2006-2010 Front 5175052AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: RA-107 ADAPTABLEFOR RAM
Suspension Stabilizer Bar Link — y, /Electric Stabilizer Bar
YEAR ONLY
2011-2013
Weight: 0742  Length: 123  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
2500 2011- Front 517505248
TEKNOROT REF. 8Y-133 ADAPTABLEFOR SSANGYONG
Steering Tie Rod
. _e'
- ‘il

Weight: 0571  Length: 1925  Bolt Metric: M16X15  Housing Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ACTYON 1st Gen 2005-2010 Front Inner 4650009005

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




1
Septomber

TEKNOROT REF. T-10281 ADAPTABLEFOR TOYOTA

Suspension Control Arm and X-RUNNER TYPE
Ball Joint Assembly

/A TECNOROT

STEERING 6 SUSPENSION PARTS

Weight: 2634 Length: 327  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
TACOMA 2005-2015 Upper 4861004010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

—%

‘ T-255 Ball Joint Front 4331009015
TEKNOROT REF. T-10291 ADAPTABLEFOR TOYOTA
Suspension Control Arm and X-RUNNER TYPE
Ball Joint Assembly

%

Weight: 2634 Length: 327  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
TACOMA 2005-2015  Front Left Upper 4863004010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
—
‘ T7-055 Ball Joint Front 4331009015

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

GT= e
A\) STEERING B SUSPENSION PARTS tember

TEKNOROT REF. T-1051 ADAPTABLEFOR TOYOTA
Steering Tie Rod End 4AWD

Weight: 0941  Length: 220  Bolt Metric: M16X15  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TACOMA 1stGen 1995-2004  Front Right Outer 4504639295
TEKNOROT REF: T-1052 ADAPTABLEFOR TOYOTA
Steering Tie Rod End 4WD

Weight: 0941  Length: 220  Bolt Metric: M16X15  Housing Metric: M20X1,5

Rt
——————

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TACOMA 1st Gen 1995-2004  Front Left Outer 4504739175

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-1063 ADAPTABLEFOR TOYOTA

Steering Tie Rod Model year from: 02.03
Tyre Size: EXC.185/55-R15

=" YEAR ONLY

2003-2005

Weight: 0451  Length: 247  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
YARIS (P1] 1893-2005 Front 4550300030
TEKNOROT REF: VO-834 e o

Suspension Ball Joint

Weight: 1042  Length. 81

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right " .
XC40 2018 Lower 32221282%, 32221283

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: VO-835 ADAPTABLEFOR VOL VO
Suspension Ball Joint

Weight: 1042  Length: 81

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XC40 2018- Front Left Lower 32221282* 32221283*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



